N = 0l & At & M A

20169 = =0k e H EXNEE N

A EXNEEDL

Ha: Y 7

Sl EXNTHE 22 = CEEEED
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
EXNFEE N 241,951 158,656 83,295
2 55,604
AlHI 16,000
T8l 170,257
ANEHy 7S 219,770 136,475 83,295
= 55,694
Al'HI 16,000
T Hl 148,076
EXN3HE g2 =d 68,582 65,260 3,322
HESAXIIL & F 46,782 43,460 3,322
201 2Bt Yl 31,124 28,727 2,397
01 AtR 22l | 27,074 24,677 2,397
OXItZAL E2= M 1,821
= 70,000 *6IH A +63] *1/2 1,260
Sy 33,000 «17H & %23 %1/2 561
ONgXI BE=+=+2 21,572
- A X0
40,000& »29,0002 x| /(43,0002 XI/1,088% 19,372
X )*1.1%3/5
SRS P 40,0002 * 1008 XI «50%*1.1x1/2 1,100
- o|ANE 40,0002 * 1008 X| *50%*1.1x1/2 1,100
OMESAIXIN Z2HSNE MA WHH
70& *30,00000*1.1%1/2 1,155
OXIZA 2823 2,526
SAS X 20,000 x50 A x1/2 500
ZEE EU(Z2) 160,000% x2CH*33]x1/2 480
ZeH EU(SW) 99,000 #2CH*43] «1/2 396
=2H 23 170,000& *109H*1/2 850
=26 EX 60,000& 108 +1/2 300
02 524t 4,050 4,050 0
OMESAXNIN Z2HSANE 25 RUE
7021 %30,00001 %1/2 4,050
202 O 4l 1,350 1,350 0
01 ZLHO I 1,350 1,350 0
OIMESAIXIIOb AL 10,0002 «3H 45 1,350
203 ¥R =l 400 400 0
03 Al =X P2 FAH| 400 400 0
OSAMIILZA BEFH 400,000& 400
301 LetE = 13,908 12,983 925
B A =SRREEAS 13,908 12,983 925
ONHdd gREX 13,908
== 197,100& =3 128 7,096
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25 EXNAEE N
Hu: NHMN
e X&E Z2e (&t
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 55.694
24l 6,189
KNEETHEZAL B2 A 1,000 0 1,000
201 gBt2A | 1,000 0 1,000
01 AP 22| H| 1,000 0 1,000
OXNEMEA EBEEE S M 1,000,000 1,000
TEYHFEA MY 67,858 53,847 14,011
Al HI 16,000
I 51,858
C2YHFA ANEE 22 52,458 33,851 18,607
Al HI 14,000
T 38,458
308 XX G SO0l A 1,764 1,701 63
10 2| 2SHCHSHE A X A H 1,764 1,701 63
OEZHFEA JIE2: SXEx 1,764,000 1,764
401 Al HI L £ 0HHI 50,694 32,150 18,544
Al HI 14,000
24| 36,694
01 Al& H| 50,694 32,150 18,544
OEzYH =4 ¥ AX| 12,790
B E T 2ga 233,000 x30H 6,990
s S 2o 60,000& *30H4 1,800
29 29 500,000 84 4,000
Al HI 4,000
OEZTHFANE SANEE 17,904
2T WA 300,000 *2,984JH 0 .02 17,904
OZJINEHsE &AX S 20,000,000 20,000
Al HI 10,000
Ty 10,000
C2HFA EY 4,500 10,500 A 6,000
Al HI 2,000
24| 2,500
201 et 4,000 10,000 A 6,000
Al HI 2,000
24| 2,000
01 AR 22l ] 4,000 10,000 A 6,000
OsEE JI88 & M& 4 ,0002 =1,0007H 4,000
Al HI 2,000
I 2,000
203 2R EF Y| 500 500 0
03 AIZH =& 2= X H| 500 500 0
OE2HFA XD|HE =X 500,000 500
2IIFEA FEAIAE 22 10,900 9,496 1,404
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A EXNEEDL

Ha: Y 7

G T2HFEA ALY (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
201 Yet2 | 10,900 9,496 1,404
02 22| 10,900 9,496 1,404
OGIS A& S/W SXE 2,387,000& 2,387
O2INT=AHBAAH(KAIS) 29X &
8,513,000& 8,513
HMSHAH(EXNZED) 20,208 20,208 0
JlE&dd| 20,208 20,208 0
Jl2 &4l 20,208 20,208 0
201 B9 16,008 16,008 0
01 AP 22| H| 16,008 16,008 0
OJleges8 3| 7,728,000 7,728
OS2 8,280,000 8,280
203 &R F & 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
OEMSIgELEF=8H| 4,200,000& 4,200
HEESS(EXNEE W) 1,973 1,973 0
SRS DNES 1,973 1,973 0
HLREZ2 &3 1,973 1,973 0
802 Btet= | Ef 1,973 1,973 0
03 =S 1,973 1,973 0
OgEeZ2 Roigse &2
160,000, 0002 *2.5%* 180! /365! 1,973
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